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HIOIQ QI218 U6 Y6RUR g9 a AT Q4IRS |

Candidates should attempt all questions of GROUP-A
with word limit of 300 words and should attempt any 10(ten)
questions from GROUP-B with word limit of 250 words.

JeIgIEf16e GROUP-A § ¢4 94 Moo R cIea
Q89 6269 99° GROUP-B ¢ 646@16d €oG g4
980 @R FlIER AAQ A1FC AYER |

GROUP—A

In what ways was India a diverse and multicultural society? Why
was it considered so and how did it differ from other societies of
Asia and Europe? Explain with examples. 20

9P RER NAG IR IFY 9&° 98 A'YY AAIR AR, YOA VR F699%
QULIRAMI 9e° 92l Y32l B g6alga ANR0IG FU8 AR ANI? AL ALQ
IS @K |

What were the causes and consequences of the Odisha Famine of
18667 Discuss in the light of the following : 20

1866 3349 QAR RIRE 9° ARGIN '€1? FF6I URIKER AIERNISR KA |
(a) British policy of forcibly extracting agricultural revenue.
Q8 Q] FIRAUR KA IR TG 1D |

(b) The heavy dependence of agriculture in India on forces of nature.
gaoe 68 a06a QI096a @8 AR RSN |
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. What is slum inclusive development? Will this lead to a sustainable

urban development? Discuss. 20
Q8 QG0 SR8 @27 921 Y@ I Q! IR IR SR 629 @7 1L
QUER YIERISR K9G |

. Do you think sustainable development goal targets are achievable?

If yes, how are we going to achieve it? If not, what are the obstacles
to achieve it? 20

2DE AT @, 9K QU6 AYY (Sustainable Development Goal) 2I1QAR
621 QIRQ? GG 2, 26T ¥2IQ UG 21AR FQ AERI? G Q6L, 121§ 1AM
@69 QIR QI AQ @87

. Outline the significance of Bhitarkanika National Park. 20

Q00RRIR PPN AAIIRR GIQLY AAFER BIEAIFAIG !Q |

GROUP—B

. What were the major changes that Mahatma Gandhi brought in

public life in India? 15
A219) 11 AQGER ARG F1IRER 6XR gq¥ atees Adyen?

. “Extremism in politics seldom achieves positive results.” Discuss in

the context of the Indian National Movement. 15
“QUIMBER @Y @ GR@Q ARAUANR IRTR LM FER 17 QARG RIV1L, 2IERPR
JUTFeR IENOR @G |

. Throw light on the role of Jayi Rajaguru and Buxi Jagabandhu in

resisting British control and inspiring people during the National
Movement. 15

Q04 P986q gosalt QA9 99° RIPIA ZIERINE ANLER ERINE 6gdl
6KISIRQIER PAIANGQ I9° @1 FULYE AR QUER UCALAIG A |

. How would a Union of States be different from a Federation of

States? Discuss (a) In the context of the Constitutional position in
India that India is a Union. (b) In contrast with the causes and
consequences of the American Civil War through which the Union
was forced onto the Confederacy. 15

4R QIS Q@ QIFY 6TER6RAR, 0l FIR AR 6297 IERISR 293 |
(a) VQGER ATUITR TG gATER QUG IR A°D | (b) LIEAARA G2YR QRS
6 aRIF ARG QPRI RQ 6QEIg IR FIIFER QU Tgé U 6RARARN! |
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What is secularism? In what ways, it is compatible with the multi-
cultural, multi-religious ethos practiced by India across the ages?

15
UG REATG! @417 FQ AUILER N2 AN Q19 YOIYGIea gone 92-A°YeR,
Q2-Ifi@ aenel A8e 9AS |

What were the reasons for the rapid growth of the industrial
revolution in Europe? Discuss in the context of the relative absence
of modern industrialisation in the prosperous lands of India and
China till the 19th century. 15
Z6QIT6Q §8 AGQ @0 YRR QI0d gL @8 AN? AVI°E doIR1 adye
QAR IS° 91RQ AR 6Q46R URYAR F9190a 26T AQATE gaAet Qa6a
e @ |

“Disaster Risk Reduction is everybody’s business.” Discuss with
evidence. 15

‘Qadya 398 21Q’ 6208 ANLTR RIA-gAIE AL 2RISR KAG |

What are the five P’s in sustainable development goals? Explain
briefly. 15
Q€19 @R19Q (sustainable development) AIEE P’ @417 QIg 4°6396Q
QIS KQg |

What is precision agriculture? Will it be possible in Indian
agriculture? 15

Qald @8 (precision agriculture) @€? Q00a 286 9Ll AAS @?

Will the ageing population be a problem in India? If not, what are
the problems you foresee in the age structure of the Indian
population? 15
QAUAGER ALY AFQY| QIR @7 AD @65, 6069 WNAVIL PAQA°GNIR Y
Qaeas ea Ul XS AYII 69¢ e ?

What is geoinformatics? What are its advantages in planning in
various sectors? 15

SBRETAIGY (geoinformatics) @'€? YRR IVITR 6AIRA| JLO FRIEIER
9RIQ AU6AIT! @47
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17. What do you understand by the term climate resilience? What is| Candidate

the need for it? 15| mustnot
@a91g 809! (climate resilience) @26m S ¢ 9EI? I2AQ UL e
this margin.
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